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«Арифметические ребусы»
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на 19 кг 
тяжелее

27 
кг





Деления и числа 
образуют шкалу, 
которая помогает 

определить
 значение измеряемой 

величины.



      Любому делению 
шкалы соответствует 

число – 
 цена деления.

Цена деления – это 
длина деления в 
единицах шкалы



а) 

    А –                     км/ч   
    В –                     км/ч  
    С –                     км/ч
    D –                     км/ч
    Е –                      км/ч

№ 3



б) 

   1) 160 : 8 = 20 (км/ч) – 
цена деления между 
большими штрихами;

    2)  20 : 2 = 10 (км/ч) – 
цена деления между 
числами.



            

        1 час                     2 час                   3 час


